03/13]06

Al -1 =8, _ (o), oy <o

Cirgt Sum ™M gnnm
: | 4+ 3%
alx) = '
) (1-2%)™

2
T 0,10X s 0 X e L.

| +33<

O N (s
o a ) i)
C Z(NU (3x) + Z(n+\)(3x)
Nz

. Nze
'\\/\
Q

% (3" nx° Yt

¢

n

(‘—:!5)1 = | l-'a& +392;--" 4-(“‘4)\‘9 n" e \ (Q““QIS“






QX)) = — —

Por b

Frac\’\cmx






09
Z(O\ 0 ‘)Y ZﬂQXA
n=|
Z OIX REQ,‘_P( ~ §”?Xy\

n

g o .

alx) - | ~-3xalX) = nZ; ninnx" *Enxn




(X)) = X 4% +
SRS - 3%

=R | B - 0

—_

=¥ "’ (1:57- ! (-3 -3y
'F“nd A)BJCDD
(%) + 1-3(}3
3
=033 (1-34) + B(1%)(1-34) + (24 + D(1

ﬁ«\‘ X=)

-—

&:/&C %C:—i

S
P“‘ )(‘—S

0 _ N2 D p:s '
o = 0/;‘_) ’5 D,{ (n"‘lh\&,l@



